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What is “Accounting” & i & “$3t”

° an
used to collect, classify,
and manipulate
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Accounting Cycle # 31 8 3§

Transactions

: : ERAE
Post—closing trial balance

B 2A X F P -
BREFEEZ Books of original entries

B b

Final accounts & Financial statements
A-BHE 2 2 PR 4

Postingif t&
Ledgers 4 3tk

Closing entries
Bk A

Balancing off
AT g

Adjusting entries

B L Trial balance
#E 4



Level Descriptors & & 4 it

+ Communicate factual information, opinions and
suggestions in a logical and coherent manner using a
wide variety of appropriate business terminology and
presentation skills
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Overall Comments B 4 & 3.
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Overall Comments 5 i & 3
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Q.1 -CVP Analysis
FEF é}*ﬁx&-

CVP Company 1s a small manufactuning company producing and selling a single product. Some
information 1n relation to October and November 2017 1s extracted as follows:

October 2017 November 2017
Sales volume (which 1s equal to the production volume) 950 unts 1.000 units
Selling price per unit $100 $105
Total costs $75.000 $78.000

The vanable cost per umit and the fixed cost remained unchanged thgpbughout the two pfionths.

You are required to:

(a) Calculate the net profit for the two months ended 30 Novembgr 2017. (1 mark)
(b) Calculate the contnbution margin ratio 1n percentage for October 2Q17. (2 marks)
(c) Calculate the margin of safety in percentage for November 2017. (3 marks)

<Total: 6 marks>
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(a)

Sales 4 (950 x $100 + 1,000 x $105)

Less: Total cost j& * & g A& (875,000 + $78,000)

Net profit for the two months ended 30 November 2017
HE 20174511 430 8 L&A 64

Alternative answer: ﬁﬁ ig '

Net profit for October 2017 (950 x $100 - $75,000)

2017 4 10 A 8% 41 20000 05
Net profit for November 2017 (1,000 x $105 - $78,000)

2017 4 11 B #3841 27000 05
Net profit for the two months ended 30 November 2017

HE201745 11430 8 LAMEAH$4 47,000

<] mark>




(b)

Variable cost per unit .42 % #) & A= $78,000-$75,000

1,000 units—950 units

= $60 per unit
Contribution margin per unit ¥ {3 # F% 7 %= $100 - $60 = $40

Contribution margin ratio (in %) % & Bt & f,}$=% x 100% = 40%

(c)
Fixed cost [}] & i A& = $75,000 - $60 x 950 or $78.000 - $60 x 1,000 = $18.000

Contribution margin per unit ¥ {2 1% B 7 &% = $105 - $60 = $45

Breakeven point (in units) 4§ & 4§ 8§ =2 = 400 units 1}

OR Breakeven point (in $)#, 48 3 % ¥4 § £ %1 =400 x $105 = $42,000

Margin of safety (in %) % 2 # B E 4 % = "”““"f;‘:o*n::’f“’* x 100% = 60% 3

<3 marks>




Q.2 -Year-end Adjustment

R

Alice Entertainment Company maintains an allowance for doubtful accounts account, which 1s
adjusted at the end of each financial year but each year the percentage rate 1s
reviewed 1n accordance with the prevailing economic conditions. On 1 January 2013, the account
had a balance of $23.500.

The following additional information 1s available:
Year ended 31 December 2015 31 December 2016

$ $
Year-end balance of trade receivable 525,000 472 400
(before wniting off bad debts)

Trade recetvable proved to be uncollectible 16,500 39,750
Percentage allowance for doubtful accounts




Due to economic downtumn, the company's policy for the year ended 31 December 2017 1s to relate

the allowance for doubtful accounts tofage of debts outstanding] The debts outstanding at
31 December 2017 and the required allowance for doubtful accounts are as follows:
Allowance for

Debts outstanding Amount doubtful accounts

Up to 1 month

More than 1 month and up to 2 months
More than 2 months and up to 3 months
More than 3 months

You are required to:

Based on the above information, prepare the allowance for doubtful accounts account for the 3 years
ended 31 December 2013, 2016 and 2017. (4 marks)

<Total: 4 marks>
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Allowance for Doubtful Accounts 5% & & fi§ #k

(Allowance for doubtful debtsX)

2015 $|2015
Dec 31 Profit and loss Jan1  Balance b/d

(Profit & loss /P&L/ (Bal. b/d X)

Income statement X) A L 4 23500 0.5
RERRAEAX)
Balance ¢/d¥

(Bal. ¢/d X)

HH®ET

2016

Balance c¢/d® Jan1  Balance b/d
(Bal. c/d X) (Bal. b/d X)
SHAT & L & i
Dec 31 Profit and loss

(Profit & loss /P&L/
Income statement X)

MAREREAX) 12,672 0.5
33,012




2017
Dec 31 Profit and loss Balance b/d
(Profit & loss P&L/ (Bal. b/d X)
Income statement X) AL
05 MERGREAX)
Dec31 Balance ¢/d®
(Bal. ¢/d X)
SHET

Workmngs: £ :

(1) $(525,000-16,500)x4%

(2) $(472.400-59,750)x8%

(3) $200,000x5% + $120,000x7% + $50,000x9% + $40,000x10%

<4 marks>




Q.3 - Depreciation & Costing
k-3 5% o)

Ann Martin 15 a manufacturing company producing a single household product. To maintain 1ts
competitive edge along with a nising number of competitors, the company nvested a large sum of
money to start a project to build up 1ts plant and machinery on 1 June 2017.

The project which involved a new machine with a list price of $660,000 was purchased with a trade
discount of 20% on the list price. Related costs incurred included insurance and freight charges
amounting to $8.500 being shipment from Germany to Hong Kong. Installation and modification
works were carned out by technical team of the company. Costs incurred duning 2017 were:

$

Design fee of modification work 12,000
Maintenance fee paid to 30 September 2018 24,000
Testing fee 9,500
Licence fee paid to 31 March 2018 6,000
Labour and overheads of mstallation 10,600




The machine started to operate on 1 October 2017 and was expected to have a useful life of 3 years.
It could be disposed of at $8.600 at the end ofy

R

(a) Calculate the depreciation charge of the machine for the ve: ) (4 marks)

The following 1s a list of estimated costs at two levels of activity duning the_last quarter of 2017:
Activity Level
50,000 units 70.000 units
Costs $ $
Diarect matenials 650,000 910,000
Direct wages 350,000 490,000

Depreciation ? ?
Town gas 75.000 85.000

You are required to:
(b) Classify each of the listed costs mto fixed, vanable, or semi-vanable cost. (2 marks)

(c) Calculate the total costs if the expected activity level 1s 80,000 units a quarter. (2 marks)

=3 months

<Total: 8 marks>
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(a) Depreciation charge for the year 2017 2017 F&937 % § M

Cost of machine # % & & $

Listed Price € 1§ 660,000

Less: Trade discount § % 742 (20%) 132,000
528000 0.5
Add: Freight charges i§ § 8500 0.5
Design fee 3%t & 12000 0.5
Testing fee 3%, ¥ 9,500 0.5
Labour and overheads installation A T & [ 4% & A 10,600 0.5
368,600 0.5

Depreciation charge 7 % % 1 = ($568.600 = $8.600)/5 (%) x 3/12 (%) = $28,000 (1)

<4 marks>

(b) Costssi &
Direct materials & 3 7 #} Vaniable cost#¥ #) i & 0.5
Direct wagesH £ T & Vanable cost§ #) i & 0.5
Depreciationdf & Fixed cost[] & f & 0.5
Town gasi¥ i, Semi-variable cost¥ % ) i & 0.5

<2 marks>




(©) Costs at 80.000 units80.000 14 & 54 i A&
$
Direct matenials & & /% 3} 1,040,000
Direct wages B T & 560,000
Depreciationif % 28.000
Town gas#f f, 90.000
1,718,000

Town gasif #,
Vanable cost per unit ¥ {3 % $) sz & = (385,000 - $75,000)/ (70,000 - 50,000) = $0.5
Total fixed cost £8 [#] i€ i, 4 = $85,000 - $0.5*70,000 = $50,000

Alternative answer: iR 2 £ |

Varniable cost perunit  Total costs if 80.000 units a quarter
Bl ¥Hak % 800004 & bt sk K

Variable cost # $) it & $
Direct matenials & & % 4

Direct wages AiE T &

Town gas ¥ f,

Fixed cost [E] i€ sk &
Depreciation 1 %
Town gas ¥ &,

<2 marks>




Q.4 - Accounting for Co. Ltd and
Accounting Concepts

AR E FHRAFIHMS

Cherry Town Ltd prepared a list of account balances for the year ended 31 December 2017:

$
Plant and equipment — cost 2,500,000
Plant and equipment — accumulated depreciation 1,500,000
Draft profit for the year 25,000
Bank 15,000
Ordinary share capital ($0.5 share value) 1,200,000
Retained profit as at 1 Jani¥agy 2017 65.000
General reserve 30,000

Having dissatisfied with the draft profit for thg year, the board of directors would like to launch a
massive expansion plan to boost sales 1n commn®years for better profits and you were approached
for advice.

-
uirea:

(a) Feanng that 1t migt lose control of the company., the board of Mggctors was considening whether

to arrange hank loans or issue preference shares to raise fifmgher capital. Explain the
accounting treatments of bank loans and preference shares in the stateMagnt of financial position
of the company. (2 marks)

25



(b) Some directors, however, suggested issuing 500,000 new ordinary shares at a price twice the

share value of existing shares. Complete the table below to show the gffect of the share issue
on the following accounts. (2 marks)

Increase Decrease No effect Amount $

kime:ral reserve
IOrdinary share capital
Retained profits

Bank

(¢) Another group of directors were worrymg that the value of the non-current assets of the company was
not large enough to secure bank loans with favourable terms. The following two measures were

proposed:
1. It was suggested that the stock of loose tools and stationery should be treated as a non-current
asset 1n the financial statements.

1n. [t was suggested that the depreciation charged i1n the past two years should be adjusted to
create a higher value of non-current assets.

Identify the relevant accounting concept that the company jgust follow i1n each of the above
measures and provide briefexplanations (2 marks)

<Total: 6 marks>




HARRA I 3 120170124318 69k 6 &5 4R T

Rl SLith - mA

R Sl - R B
AFRE R4

SRAT 7R

LA (FRRIBI0S)
@HAIM o 201751 F
&g Bt

EFEHAFRMNERLBATRE A SRR FRAAVBAN UL HERHE N KA

RERA - EFRERRNRMER-
HRER:

@ E¥FRALARELANBHE VEABRLARHBARRIBARARELLSF
A BBRATSAGARAERANRBKARNG G R .




(b) 3P4 E Fop R R R A 09 RS R A B 4T 500,000 AL # WA - HMFBITBREHT 5
WP B EREART REBA Q)

34 o v &UE 28RS

%18 B arbtfe
i i fig A
@ 77 4]
BRAT 77 4K

(© A-—HEFH/LEL MG TANRMEARMS  AIRIPRIRAT TR FRAHERFRE
Alegtkak  EREATHES K

i RABFEIRARXRAGGRAMBRENEIEFRSTA -
i ERBEEHFANERARENGE  ARJFAHTAGHRME -
BHELEMARATLARKGENERE EHERE- Q27)

<8y 649>




(a) Bank loans 48 /7 # 3%

Statement of Financial Position ¥ # #k il % :

e Shown as a non-current liability 7|/ B JEii# a 1§ - (1)

(Liability / Current or Non-current liability / Long term lhiability X)
(Afk/ MR IEn® Al kM AMRX)

Preference shares

Statement of Financial Position 8 #% # 0 &
e Shown as part of equity/share capital ] f 2 8% 1 &/8c A 69 — 347 - (1)
(Equity and Liabilities / Capital / Capital and Reserve X)

(RRMBRE AR/ AR/ AEARBHB/X)

<2 marks>

(b) The effect of 1ssuing 500,000 new ordinary shares at $1 each:
F% 45 Ax $14% 47 500,000 A% & 18 Az &4 -
Increase Decrease No effect
34 o T P
General reserve v
48 Rentfe
Ordinary share capital
¥ 1@ A A
Retamed profits
W7 H
Bank
8857 75 % 500,000

<2 marks>




(c) Identify the accounting concept the company must comply with: i/ B £ &) § 31182

1. Mateniality - value of stock of loose tools and stationery were usually insignificant and
should be better treated as an expense / should not be treated as non-current asset

FEM-FRIRRXAMBERERS HAERARE  ARFMFRSTA

B (1)

1. Consistency - deprectation method should not be changed for better asset value.

~RU - AN KA ELRRARSNEAEALYE - ()

<2 marks>
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Q.5-Absor c|ptlon vs Marginal Costing
Decision Making

ﬁ&ﬁ$&ﬁ»%ﬁ$&&ﬁm&ﬁ

AMC Company 1s a manufacturing company producing a single product commenced business on
1 November 2017. The budgeted information for November 2017 1s shown below:

$
Selling price per unit 470
Matenals cost per unit 120
Labour cost per unit 70
Vanable production overheads per machine hour 10
Vanable selling and administrative expenses per unit sold 15
Fixed production overheads 400,000
Fixed selling and administrative expenses 132,000

Currently the company 1s usmg absorpnon costmg and the fixed producuon ove:heads are absorbed




ine hours, the budgeted level of activity 1n

November 2017 1s J, 000 machme hours

All the actual costs in November 2017 are same as the budgeted costs. Durning the month, 2,400 units
were produced and 2,300 units were sold.

You are required to:

(a)

(b)

Calculate the product cost per unit showing the prime cost and absorbing the fixed
production gverheads by predetermined overhead absorption rate. (2 marks)

Prepare the income statement for November 2017 under absorption costing showing the closing
mventory and accounting for the over-/under-absorbed fixed production overheads by
adjusting the cost of goods sold. (4 marks)

Calculate the period cost for November 2017 1f marginal costing 1s used. (1 mark)

State whether the reported net profit for November 2017 under absorption costing 1s equal to,
higher than or lower than that under marginal costing. Explain why. (Calculation 1s not
required.) (2 marks)
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$
AR 470
BHASHRHRA 120
BHASHALRA 70
B B eey 8 4 A B3R A 10
BEEHASNEHHEITHEA 15
Bl & & fa 4% i A& 400,000
Bl &4 & foiTel ¥ 132,000

BN BAHEAREEAE BRACEARERAARRE T RO REEHERMSHAESD
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@)

Matenials /R #}

Labour AT

Prime cost ¥ % 5 &

Variable production overheads & # 4 & 4% 5L (510 x 2)

Fixed production overheads [ & % & r-'l:l&ﬁd;(‘%x 2)
Product cost per unit 4 & 69 4 £ Lk

(b)

Income Statement forr November 2017 under Absorption Cg

LAYk RE e 2017 511 A4 B &

Sales 44 ¥(%470 x 2.300)
Less: Production costs of units completed ($370 x 2 4

R ESheh A E A
Less: Closing inventory &% : #§ £ 7F §($370 x 100)

® Add: Fixed production overheads under-absorbed
Aot oD Rl B) A A R R B A
(5400,000 - 3160 x 2.400 or S384,000)
Actual OH absarbed
TR AR A B R A
Production costs of goods sold 44 ¥ & & s &
Gross profit £ #
Less: Vamnable selling and administrative expenses ($15 x 2.300)
o REE S foiTE R A
Fixed selling and admimistrative expenses
K B FofrEl M
Net profit ;§ #|

34,500

132.000

1.081.000 0.5

0.5

166.500 0.5

47.500 0.5

=4 marks=




(c)

Fixed production overheads [f] ¥ 4 & [ 4 i &

Vanable selling and administrative expenses ($15 x 2,300)
R84 8 foiTe kA

Fixed selling and administrative expenses [£] £ 45 & fo 473 &% A

Period cost under marginal costing #§ I s 4k st 5 64 3 B & A

<] mark>

(d)
The reported net profit for November 2017 under absorption costing 1s higher than that

under margnal costing.

AR AT B 6 2017 4 11 At Al Akt B e B4 S

It 1s because production volume is greater than the sales volume and a greater amount
ofﬁdﬂmmﬁwmmmwmm
accounting period.

RAXAEAARIERNHERIN RIGERLLA ]&&é?ﬂﬂ}_ﬁ_ﬁ_/
HBET-AKHHARE - 1

<2 marks>




The company management 1s dissatisfied with the performance of the company 1n November 2017.
The Marketing Manager has proposed the following promotion package for December 2017:

(1)  reduce the selling price by 3%, and

(1)  hire three promotors remunerated at a monthly basic salary of $9,000 each and a commission
of $16 for each unit sald.

It 1s anticipated that the promotion package can increase the sales volume by 30%. However, the
increase m production 1s subject to availabilitv of machine hours which is a limiting factor.

All data 1n relation to costs, expenses and maximum capacity in November are also applicable to
December. In addition, the sales volume will remain at 2,300 unats 1f the proposed promotion package
1s not implemented. However, the units produced 1n December will take into account the sales volume
and the opening inventory. The company intends not to keep any closing inventory at 31 December
2017.

You are required to:

(¢) Determine whether the promotion package for December 2017 proposed by the Marketing
Manager should be accepted. (3 marks)

<Toatal: 12 marks>
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Cost-Benefit Analysis Approach 2 B A S Bt ¥k

Total contribution margin under the proposa] #ﬁi‘l’ I EACN T
[(8470 x 95% - $190 - $20 - $15 - $16)x(—+ 100)] 595.950

Total contribution margin without the proposal A RS R R

[($470 - $190 - $20 - $15) x 2,300] 563.500
Increase 1n total contribution margin 48 i 2 | &k 3% Ao 32.450
Less: Promotors’ basic salaries 4 § 695 K 7 & ($9.000 x 3) 27.000

Increase in net profit /$ #| ¥ o 5.450

*Although sales volume can be increased by 30%, 1.e. 2,990 units (2,300 units x 130%),

the maximum number of machine hours 1s only 5,600 which can produce 2,800 umts

5‘“;?;:‘) at maximum. With the opening inventory of 100 units included, the maximum

sales volume would be 2,900 unaits.
=gl AR 4H 15 30 F T3 v 30%E 2.990 44 (2.300 44 x 130%) * 2@ #% B rl%ﬁ}niﬁ

5.600 /6§ » 2 ik % R R4 A 2.800 4 (S‘Z“‘:u;“)gm - A KA 100 4 -
Ut —Afres s § 4 2900 4# ¢

Since there 1s an increase in net profit the Marketing Manager's proposal should be
accepted [ A5 o S EIL A TG SRR 03t R o 0.5

<3 marks>




Alternative answer: 7 if gﬁ .

Increase 1n contnibution margin on additional sales™*
BRI B 5 A 0 2 R K

[($470 x 95% - $190 - $20 - $15 - $16) x (@ +100 - 2,300)] 123.300
Less: Decrease in contribution margin on existing sales

HRAGRUFT R HER AR
[($470 x 5% + $16) x 2.300] 90.850
Increase in total contribution margin 48 i¥ % & ik 3% /v 32.450
Less: Promotors’ basic salaries 1 44 § 69 % K # 4 ($9,000 x 3) 27.000
Increase in net profit /¥ #) 3% jv 5.450

40



OR #
Income Statement Approach 4§ & % it & i

Income Statement for December 2017 under Marginal Costin nder new proposal

BBk N e 2017 £ 12 AR K
$ $

Sales 45 (8470 x 95% x 2.900) 1204850 0.5
Less: Variable production costs of units sold % &) 4} & & &
Variable production costs of opening inventory ($210 x 100)

Mt Ry oL A AR 21,000
Variable production cost of units produced ($210 x 2.800)

AL R8AE A RA 588.000 609,000
Product contribution & J& &) i 5 & &K 685,850
Less: Variable selling and administrative expenses ($16 + $15) x 2,900
R e B AT R A 89,900
Contribution ¥ F% 7 &k 595,950
Less: Fixed production overheads [ i€ 4 # fil 48 s &

Fixed selling and administrative expenses
B ESHEFofT R A
Promotors’ basic salaries 1 8 R 495 & # & 559,000
Net profit ;$ #| 36,950 0.5




Income Statement for December 2017 under Marginal Costin ithout new proposal

HR A S| AHBR A LG 6 2017 F 12 AtriRa K

Sales 44 (3470 x 2,300)
Less: Variable production costs of units sold % $ 4 ff & &
Variable production costs of opening inventory ($210 x 100)

MG ROEHEERA

Vanable production costs of units produced ($210 x 2,200)

AL E A RA
Product contribution # &Y i¥ B 7 ik 598.000
Less: Variable selling and administrative expenses ($15 x 2.300)

RHa BT R 34,500

Contribution ¥ 2 & &% 563,500
Less: Fixed production overheads ] & 4 & [l 4& it & 400,000

Fixed selling and admmistrative expenses

Bl € 45 B Ao fT L % M 132,000  532.000
Net profit j$ #| 31,500 0.5

Since there 1s an increase in net profit ($36.950 - $31,500 = $5.450), the Marketing Manager's
proposal should be accepted.
] ;$ 4 3% H0($36.950 - $31.500 = $5.450) + & B 1K 49 7 45 & 44 42 3¥ 031 &) - 0.5

<3 marks>

<Toatal: 12 marks>




Q6 - Accounting Ratios
It R 40

Amy 1s a sole trader 1n sportswear trading industry. The financial information of the company for the
years 2016 and 2017 was as follows:

Income Statements for the years ended 31 December

Sales
Less: Returns inwards

Less: Cost of sales
Opening mmventory

Add: Purchases

Less: Closing mventory

Gross profit
Less: Expenses
Net profit

2016
$

386,500

386,500

2017
$

488.830
21,850

466,980

17,600
228,650
25,500

25,500
253,830
36,700

220,750

165,750
108,450

242,630

224 350
165,050

57,300

39,300




Statements of Financial Position as at 31 December
2016

$
Non-current assets 156.800

Current assets

Inventory 25,500

Trade receivable 77.300

Bank 120,000
379,600

Capital 129,700
Add: Net profit for the year 57.300

187,000
Less: Drawings 7.000
180,000

Non-current liabilities
8% Bank loan

Current liabilities
Trade payable
Other payable




Additional information:
(1) All sales and purchases are on credit.
(11) On 31 December 2015. the trade payable was $19.760.

(1) A purchases invoice amounted t0.$5 900 was found 1n Amy’s drawer on 5 January 2018 while
the goods were received on 29 December 2017.

(1v) In 2017, goods invoiced at $30,000 were delivered to a customer on a sale-or-return basis.
This batch of goods had been marked up at 50% on cost and treated as credit sales for the year.
As at 31 December 2017, only one-fourth of these goods was accepted by the customer.

You are required to:

(a) Calculate (to two decimal places) the following ratios for 2016 and 2017 (assume 365 days per
year):

(1) Net profit ratio
(1) Current ratio

(111) Average trade payables repayment period (months)

(1v) Inventory tumover (times) (7 marks)

(b) Based on the ratios calculated in (a) above,
(1) briefly comment on the liquidity of Amy’s business for the year 2017. (3 marks)
(11) state two limitations of ratio analysis. (2 marks)

<Total: 12 marks>




FEETREAHRET D ER - AN 2016 FFR 2017 ERAMBTHLT
BERANBLEEMNRER

2016
$

386,500

386,500

2017
$

488,830
21,850

17,600
228,650
25,500

466,980

220,750

25,500
253,830

36,700

165,750
108,450

242630

57.300

224,350
165,050

59.300
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2016

$
156.800

25,500
77.300
120,000

379,600

129,700
57.300

187,000
7,000

180,000
80.000

36.600
83,000

379,600




H AT
) FAASRAMETIHEMRELS -
2015 4 12 A 31 8 &) JE A 7 42 £ $19.760 -

2018 1 A4 582 E oI EMFN—KkS59006) 0% T4 £ - 128 B & 56 272017
12 B 29 84| -

2017 4% S8 RBW HFAEE-RLLEEETEF > 4§ RIES30000 753 % Ao
R 0%t B FAF RS - 2017 F 12 A 31 BZFPBI R MR ZMT LY
mﬁz -—

HEER:
(@) 3tH 2016 F & 2017 & (MR3xBF4 3658 ) U T &3TLHF GHEDHEEHM) !
@  EAE
() By
() MR (8)
Gv) HERARE (R)

(b) AR LI (a) H3HiFagLE
@)  FHEIRRIALNG) 2017 FEAEBES -

(1) 35 b B 54 6 B AR PR o




2016

2017

$57.300 + $386.500 x 100%
= 14.83% [0.5]

$45.900(wk 1) + $(466.980 — 22.500) x 100%
= $45,900 (%) + 444,480 (%) x 100%
=10.33 % [1.5]

$(25.500 + 77,300 + 120,000) +
($36.600 + $83,000)

= $222,800 + $119,600

=1.86:1[0.5]

$[(36,700 + 15.000) + (55,000 - 22,500) +

89,300)] + $[(76.000 + 48,000 + i)]
= $173,500 (%) + $129, 900 (44)
=1.34:1[L5]

$[(19.760 + 36,600)/2] + 228.650 x 12
= $28,180 ~ $228,650 x 12
= 1.48 months [0.5]

$[(36,600 + 76,000 + 5.900) /2] + $(253.830 +
x12

= $59,250 (%) + $259,730 (%) x 12

= 2.74 months [1

(1v)

$220,750 + [$(17.600 + 25,500) / 2]
= $220,750 + $21.550
= 10.24 times [0.5]

$(242,630 + —15.000) + [$(25.,500 +
36,700 + 15.000) / 2]

=$233,530 (*2) + $38.600 (¥%)

= 6.05 tumes [1]

Working ¥ ¥ 1
Net profit for 2017 2017 4 & i$ #)
= $59.300 - - [Omission of purchase 8% i /] - $22,500 [Overstatement of sales 4§ | % 3t]

+$15.000 [Understatement of closing inventory #§ £ /% & /' 3t]

<7 marks>

= $45,900




1
%12 liguidity of the company deteriorated (1) as the current ratio dropped from 1.86 times to 1.34
times. It indicated that the company was less able to repay its short-term liabilities out of its current
assets in the year. (1) Ei#tb £ d 1.86:1 TR E 1.34:1 > BATRIZLS) G FRAE X (1) > 3%
wEA R TALZRUAMBrAA M AT - (1)
The detennoration of the liquidity was due to the extension of repayment peniod to trade creditors from

1.48 months to 2.74 months. (1) Also, the inventory turnover slowed down 1n the year as the inventory
turnover rate decreased from 10.24 times to 6.05 times 1 2017. (1)

BRI REORAXARBIMRG 148 WA KE 274188 - D) st HRARF
#1024 RTFREE2017FH 605K HAFREGARARARELEARAZ— (1)

(Any three points of the above, 1 mark for each point, max. 3 marks)

(LEFM=R BRI &K% 3D <3 marks>

(b 1)

Lxmatanons of ratio analysis § 3t tb & 447 69 FR %] ©
Information may not be timely (Because of historical cost concept, accounting information
may not be correct / may be outdatedX) €3t TN Kk LiFeF (RNAEHELRARDH
BRI T RA R BoFX)
Ignorance of qualitative / non-financial factors (ONLY use of example for explanation X)

& HALIEMFE/IEFAC/E S/ EHA K (R3] AHFFAHBEX)

Dafferent accounting policies between companies (Different calculation methods of
accounting ratios between different companies make the comparison very difficultX)
FELNHARB AR (FARX2NEKAREH I A AT LLRL 2 Rk IMH
AL X )

(Any two points of the above, 1 mark for each point, max. 2 marks)

(LREFRR BRI KS29) <2 marks>

<Total: 12 marks>




Q.7 - Change in Partnership
CE 2R

Au, Lau and Wong have entered into a partnership sharing profits and losses in the ratio of 2:1:1. The
agreement states that interest on capital 1s allowed at 5% per annum. The following statement of
financial position was prepared on 31 December 2017 before an appropnation of unexpected loss of

the year.
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Au, Lau and Wong
Statement of Financial Position as at 31 December 2017

Non-current assefts
Fumiture and fixtures
Less: Accumulated depreciation

Motor vehicles
Less: Accumulated depreciation

Current assets

Inventory

Trade recervables

Less: Allowance for doubtful accounts
Bank

Less: Current liabilities
Trade payables
Net current assets

Financed by:

Capital accounts:
300.000
150,000
100,000

15,500
33.000
(2.500) 46,000
(100,000)
496,000




On 1 January 2018, the operation manager Ho, was admitted into the partnership. He mtroduced
$50.000 cash and a motor vehicle valued at $100,000 to pay for capital and share of goodwill at
$60,000. To improve operating performance, it was agreed that Au would participate more in daily
operation and hence, Au could maintain his profit sharing ratio in the new partnership unchanged.
The new partners agreed on the following terms: i.e. 50%

(1) The following assets were revalued before the admission of Ho:
e Fumiture and fixtures was revalued at $400,000.
¢ Included in the inventory was a batch of remaining items purchased to meet a rush order
at $2.800. It could be sold at $1,500 if a modification fee of $300 was spent on it.
(1) Goodwill was valued at $360.000 and was not maintained in the books.
(11) The recoverable amount of trade receivable was estimated to be $13.100.

(1v) Immediately after the changes, based on the capital balance of Ho, the balances of all partners’

capital accounts should be adjusted to coincide with the new profit and sharing ratio by

transfernng the excess to or deficiency from the current accounts.

You are required to:
(a) Prepare the revaluation account. (3 marks)

(b) Prepare the partners’ capital accounts (1n columnar form). showing the admission of Ho.
(4 marks)

(c) Prepare the statement of financial position as at 1 January 2018. (5 marks)

<Total: 12 marks>
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46,000

(100,000)
496.000




2018 1A 1 848N RERIEFBIABSLSE A FEBAIZABL23$50.000 & — &7 4
$100.000 % &1k & & A& + @ Herf 4 ¥ 69 1 4 AS60.000 - AX EHELR GBFAEEET S
AMAESELN BLEBTAMOB M RAGR LI - MOBARSHLE
etk F 2P 50%

) HAEAERALSGEBN FARMBEEFERLAT:
o FRMY ¥ayF 1544 A3$400,000 -
o WO —MFENRSOAHMERL B FIATEA—HRE2ITEMIRBEY -

Yot 4 $3004% 2L # » R HL | LT 24815004 § -
(i) 7844 15 16 £ $360.000 ° PR P A3 By B -

i) 538 4 & 4k B) 69 2 95 £ $13.100 -
(V) E4BHBE > A SBAN T RSB ERIFT B o T ARSHRIEEIR B BB
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fEXRK:
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(a)

1Rcvaluation TR

2017 $
Dec 31 Furniture and fixtures

(Furniture & fixtures X)
FARRE 70,000

Dec 31Inventory 5 1.600
Dec 31 Allowance for doubtful account

Allowance for doubtful debts X
R 400

017

31Loss on revaluation —
FHMRA —

Capital: Au (/)

AWK BECH) 36.000

Capital: Lau (V/3)

TAK : B1E) 18,000

Capital: Wong (%/s)

FANK: T2 18000 72,000
72,000

<3 marks>

Goodwill shared m old ratio Goodwll shared m new ratio Required adjustment
BELFEFRAHA LR aa HR LT

$
Cly) 180,000 Cle)
(s) 90,000 (o)
(Ms) 90,000 ()

— — (*ls)

$
180,000

60,000 Cr § Capital: Lau % & © #1%
60,000 Cr § Capital: Wong # 4% : £8
60,000 Dr## Capital: Ho 3 &% : /72

360,000

360,000




(b)

Capital

Au  Lau Wong  Ho
EZ ¥HE B #F
2017 $ $ $ $
Dec 31 Capital a/c:
WA
Goodwill adj
LE b 60,000

180,000 60,000 60,000 60,000

" 31 Revaluation:
Share of loss
£
k@& 36000 18000 18,000
" 31Current a/c

EE R
" 31Balances c/d

BT

72,000 22,000

270,000 90,000 90,000 90,000

Au  Lau TWong

E# #HE I7#

2017 $ $ $
Dec 31 Balances b/f
(Bal. b/f X)

R 300,000 150,000 100,000

31Capital a/c:
CELE
Goodwill adj.

Lt b 30,000 30,000

180,000 90,000 90,000

31Bank (CashX)

RATH M
(RAX)
31Motor vehicles

e
31Current a/c
R

— 50,000

6,000

306,000 180,000 130,000 150,000

306,000 180,000 130,000 150,000




Au. Lau. Wongand Ho & & -~ %8 - £ 8 R fTE
Statement of Financial Position as at 1 January(Balance sheet X)

201884 FHHK L £HT2018:F1 818 (H A A i & %)

Non-current assets FE i % g &
Fumiture and fixtures (at valuation) (Furniture & fixturesX)

KRASEER (FEEME)
Motor vehicles (net) (Motor car / Motors X)

AP (CPE)

Current assets i % g &

Inventory 75 &

Trade recervables (net) (Account receivables X)
FEA AR (PR ) (M ol 8K/ B AL X )

Bank 4R {777 #% ($5.500 + $50,000)

$

Less Current liabilities i % & 1%
Trade payables (Account pavablesX)

AT B Ak (AR B/ AT X )
Net current assets ;ii ¥ 7 &£ %14

Financed by: ¥ 2 R R :

Capital accounts § &Pk
Au & E 270,000
Lau %] & 90.000
Wong ¥ £ 90.000
Ho 518 90,000

Current accounts
Au & E (39.250)
Lau ¥ 8 80.625
Wong ¥ B (7,375) 34 000

574,000

=5 marks=




Working: £ &

Current 1£ R &

Au  Lau Wong Ho
G $E XI& ME
2017 $ $ $
Balance b/f
ezl A L&
"31 Share of loss
WE 7B
"31 Capital
AR
"31 Balances c/d
SHBT

2,500
63,750 31,875 31875
6,000

80,625

69750 112,500 34375

$2017
Dec 31

Balances b/f

A L&

"31 Int on capital
HAH S

"31 Capital
AR

"31 Balance c/f
BHET

Au  Lau Wonmg Ho
EEZ $E I& %
$ $ $ §
15,500 33,000
15,000 7,500 5,000
72,000 22,000

39,250 1375

69,730 112,500 34.375




Q.8 - Incomplete Records

X RT3k

Mr. Smith is a sole trader engaged in clothing business. Afiter a fire broke out in December 2017, Mr.
Smuath lost some of his inventory as well as most of his accounting records. The following information

was available:

() Some of the balances as at 31 December were as follows:
2016
s
Premises (net) 500.000
Equipment (net) 250.000
Inventory 80.000
Trade receivable 157.500
Trade payable 107.750
Bank 87.500
Cash 6.000

Prepaid operating expenses
Accrued operating expenses
Accrued administrative expenses

=~paid administrative e

2017




(1) Transactions processed through his business bank account:

$

10,000

350,000

Administrative expenses 180.000
Payments to suppliers 890,000

(11) The cash deposits represented cash sales dunng the year after the following payments were
made:

$

Drawings per month 1,000

Admimistrative expenses 22.500




Goods retumed by customers during the year amounted to $25,000 and discounts made to
customers amounted to $8,900. Bad debts dunng the year amounted to $8.000.

Goods returned to suppliers during the year amounted to $16,500 and discounts from suppliers
amounted to $12_600.

The normal mark-up on goods sold by Mr. Smith was 40%.

A piece of equipment with a net book value of $34,500 was sold at $50,000 on 1 January 2017.

Depreciation on a reducing-balance basis 1s charged on non-current assets at the following

rates:
Premises 10% per annum

Equipment 25% per annum

You are required to prepare for Mr. Smith:
(a) Bank account and cash account for the year ended 31 December 2017. (5 marks)

(b) Income statement for the year ended 31 December 2017. (9 marks)
(c) Statement of financial position as at 31 December 2017. (6 marks)

<Total: 20 marks>
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Bank 4f {7 7 KPR

2017

Balance b/d 7& L &4

Cash 3} &

Trade recervable M 4 §f 3%
(Receipts from customers X)

(B P HHX)
Disposal # #
Balance o/d $5 662 T

$
87.500

120,000
900,000

50.000
272,500

1.430.000

2017

Drawings ¢ A

Operating expenses 4 ¥ % A
frec® A

Trade payable /& f} # 4k
(Payvments to suppliers X)

(MRS EHX)

Cash L& #Rk

2017
Balance b/d 7&K L &£
Sales: cash sales 44 1§ : B4}

$
6.000

156.482

2017

Bank 4R 4T 77 %
Drawings 3%
TR A
Balance c/d #5 #7238 T

$
120,000

12,000
22,500

7,982

162,482

<5 marks>




Mr Smith # 5£ 4

Income statement for the vear ended 31 December 2017

83 £4 F 20174 12 B 31 8 ik £ 52

s
Sales 44 & ($963.500(1) + $156.482(*%))
Less: Returns inwards/Sales returns 48 & iR =)

Less: Cost of goods sold 48 & st &=
Opening inventory B 4735 &
Add: Purchases #v © 8§ &
Less: Returmms outwards/Purchases returns
g W AR

921.350

16,500

$

80.000

904.850

$

1.119.982

25,000

Less: Closing inventory ¥l X 7 &

Less: Inventory loss 35 48 %k
Gross profit £ #] ($1.094 982 x 40% = 140%)
Add: Other income H 4% 35

Profit on disposal & & #]

- Expenses ¥
Operating expenses o £ % B
Administrative expenses {73, % H
Bad debts i %

Inventory loss 5 § 38 &
Depreciation expenses (Accumulated depreciation X))

FEEFHA (EMITEX)
- Premises 5 &
-  Equupment 3% 1 [($250.000-$34.500)x25%]

984 850
27,000

957.850
175,720

1.094 982

782,130

361.750
190,280
8.900
8.000
175.720

50,000
53_875

312852

12.600
15,500

340,952

el v vl
i

th

Net loss ;S5 48/ %48 % (o309 % x )

=9 marks=




Mr. Smith # 5 4

Statement of Financial Position as at 31 December 201 7(Balance sheetX)

B4 F5 ik U & 020174123318 (H A A £X)

Non-current assets FE B 5 &
Premises (net) & 2 ( ;#1414 )
Equipment (net) 3% ( 7% 1{f )

Current assets i % F &

Inventory 77+ W

Trade receirvable/Accounts recervable

FE A Y SR RAR (B x )

Prepaid admunistrative expenses/Prepaid expenses
MiHirsL M/ 48

(Prepayments fR {8/ B /FAf] X)

Cash 3.4

Less: Current liabilities 7t B & 1%
Trade payable/Accounts payable
FE AT I S AT PRAR (B AFXx )
Accrued operating expenses/Accrued expenses
Byt ¥ Em/ st A
(Accruals 3t/ B /it xX)
Bank overdraft 42 {7i% %
Net current liabilities 7 $ @ {§ ;¥ {8

Financed by: 7 & % -~
Capital & &
Less: Net loss ;#548/: 348 % (&d0/7F % x )

Less: Drawings 3 H

$

110,000
7,000

272,500

$

27.000
179.100
6.250

7,982

s

450,000
161.625

220.332

389,500

611.625

(169.168)

442.457

972.030

464,457
22,000

442 . 457

=6 marks=




Workings: ¥ § :

Statement of affairs as at 1 January 2017
FAAMKNAAE2017F1418

$

Premuses (net) % & (/#4) 500,000
Equipment (net) 33§ ($44) 250,000
Inventory 7 & 80,000
Trade receivable i iig 1 & 157,500
Bank 4847 77 4 87.500
Cash .4 6,000
Prepaid operating expenses i ff & ¥ #% A 4,750
1,085,750

Trade payable & £} f§f £; 107,750
Accrued administrative expenses f§ i 75 % A 5970 113,720

Capital § & 972.030




Q.9 - Correction of Errors

Sa9R B

Venus Company 1s a fast-food restaurant. The draft financial statements as at 31 December 2017
showed that the amounts of the draft net profit, current assets and current liabilities were $108,000,
$267.000 and $152,000 respectively. When its bookkeeper received a bank statement, she found that
the balance at the year-end in the statement did not match with the bank balance of $89.000 in the
cash book. She then further reviewed the accounting records and discovered the following matters:

(1) A credit note for $9,500 1ssued to Thomas, a customer, had been posted to the wrong side of his
account.

(1) There was a payment for electricity amounting to $7.150. The cheque had been recorded twice
in the cash book but the related nominal account was correctly recorded.

(11) The payment side of the bank account had been overcast by $1,380 while the sales retum day
book had been overcast by $21.800.

(iv) On 20 December 2017, the company received a purchase order of $77,000 from a customer.
The customer paid a deposit of $27.000 to secure the delivery of goods on 20 January 2018.

The bookkeeper recorded the whole amount as sales while treated the outstanding amount as a
trade receivable.

70




(v) On 1 July 2017, the company paid $90.000 for an advertising program which would end on
30 June 2020. The bookkeeper allocated the payment over a 3 years’ period and recogmsed
$15.000 for advertising expense and $75,000 for prepaid expense in the year.

(vi) A credit sales of $100.000 were made to a customer Mr. Fung. A trade discount of 10% was
granted and the transaction was recorded as follows:

Dr ($) Cr ()
Bank 90,000
Discount allowed 10,000
Sales 100,000

(vi1) No entry for a monthly payment of $3.520 for building management fees by standing order was
recorded 1n the company cash book. The company had treated the item as an accrued expense
at the year end.

(vin1) A credit transfer of $3.820 from its customer Ronald Limited shown in the bank statement was
not recorded 1n the cash book.

(x) Two cheques issued by the company were not presented to the bank. One of the cheques
amounted to $6.800 was i1ssued on 15 May 2017, and another one amounted to $5,730 was
1ssued on 8 August 2017.




You are required to:

(@) Wnte up a bank reconciliation statement as at 31 December 2017, commencing with the balance
per the cash book before adjustments. (4 marks)

(b) Prepare the necessary journal entries to correct the above items. Narrations are not required.
(12 marks)

() Prepare a statement to adjust working capital for stems (1) to (v) as at 31 December 2017.
(4 marks)

<Total: 20 marks>

[
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(vi) %44$100,000 R4 F P BAL » LT 10%E $47de - AMR H8Y3Likie T ¢

&) {6
SRATHER 90,000
8 T e 10,000
toR 100,000

(vil) MERFTE BRI X XA ETER > L P — e § AS3.520 3 KLk Z )8
RAEEN » ENFRGFERTEARE -

(viii) SRAT A 4 517 B8 BIROH IR 3160 SRR $3,820 R AT 4 -

(x) 2NF)HHEOBREE WEANMKOBITRAR - L P — K25 A$6.800 &) % F4 2017
FESAISBHEE A—RAMASSTION X ZRM2017H8 88KH -

gE$ T
(@ HE2017F12A31 8HRTHREE R > GREWEORLELERME - @)

b) %HEPPELAEZBAATHBLTH - BRASHRA - A2 4%)
(© HKEBFLEQDECEFABE2017F 12431898 EFTAL- @)

<$87: 20 5>




Transactions
FEI

Books of original entries
Bt A 8

Final accountsi4- & & Postingi§t&
Closing entries itk & & Ledgers 4 3§tk

Adjusting entries# & A &
Balancing off % T t&

Post-closing trial balance
$HRi2EE £

Trial balance




Venus Company % #f 2 ]
Bank Reconciliation Statement as at 31 December 2017
FATHRME & 2017512 4 31 8

Balance as per cash book before adjustment

REEEH L EHRE

Add: (i1) Electricity payment overstated & % % 32
(111) Undercast of bank account 4847 77 sk ¥R 8238 /0 3t
(vit1) Credit transfer § J8 # iR

(ix) Stale cheque B} X %
(1x) Unpresented cheque % .8, % & 24 880
113,880

Less: (v1) Credit sales wrongly recorded as deposit into bank
W 48 48 SR SR SRAT AR AR
(vii) Omission of payment 44 £ & 32 93,520
Balance as per bank statement 4% /T B & E42 %50 20,360

<4 marks>




Venus Company & #ff 2> 3]
The Journal B 32

Details ## &

Suspense 47 32 ¢
Trade receivable — Thomas JE g ¥ 2k — HE

(Account Receivable / Thomas v )

(Bt K/ HBV)

Bank 4R 17 77 £k
Suspense ¥ 2 H&

Bank 4B 7 77 4%

Suspense 4 itk
Profit and loss — Returms inwards

HER-SFERET

Profitand loss — Sales {8 &i Pk — 45 &
Trade receivable (Account Receivable v )
AT (Bt v )
Deposit from customers % P & &
(Sales deposit/Deposit received/Depaosit v )

(BREEL / Zov)
(Depaosit received from customers / Deposit
paid by customers / Purchases depositX)

(KB EPER/ FPRIRES /MR EL
[ o X)




Details

Profit and loss — Advertising expense

WEK - KSR
Prepaid expense Hff % A

Profitand loss — Sales 4§ 25/ — 44 &
Profit and loss — Discounts allowed
A Ek - Rt

Trade receivable — Mr. Fung B it | #k — /554
(Account Receivable / Mr. Fungv )
(MuctRAR / HEE v )
Bank 4R 1T 7% 8Kk

Accrued expense fi 3t % B
Bank 4R {717 4%

Bank 4R.47 /7 4k
Trade receivable — Ronald Ltd
HE W 1§ AR — BRI P2 &)
(Account Receivable / Ronald Ltd v )
(PR AR / BAILA R 23] v )

Bank 4R {7 17 #
Trade payable FE £ § 5
(Account payable E {8 v)

<12 marks=




Venus Company % #f 2 3]
Statement to adjust working capital as at 31 December 2017
TEFTRWKL2017F 124 318

Working capital before adjustment ($267 000 - $152 000)
WENLETS
Add: (ii) Electricity payment overstated & § % ¢

(ii1) Understatement of bank 44777 sk & 42V 3t

$
115,000

8.530

Less: (1) Omission of trade receivable, Thomas ;&3 Bl ¥ 4k — % &
(1v) Overstatement of trade receivable &4 ¥ £ % 3t
(iv) Omission of deposit from customers iz % £ 4
(v) Overstatement of prepaid expense 4§ A % it

123,530

171,000

Working capital after adjustment 4 3 ) 51 7 &

(47.470)

<4 marks>
<Total: 20 marks>







